Multiplicera med tio befogenheter (antal saknas)

namn:

8,395 x

4, 088 x

6,221 x

6, 538 x

6, 871 x

2,773 x

2,236 x

4,702 x

7,285 x

5, 135 x

= 8395

=408.8

= 6221

= 65.38

= 687.1

=27.73

= 2236

= 4702

= 7285

=513.5

Datum: Podng:
5,12 % =512
5,023 x = 5023
3,208 x = 3208
6,099 x = 6099
9,737 % = 9737
9,452 x =94.52
10, 606 x = 1060.6
3,815 x =381.5

8, 193 x =819.3
3,494 x =34.94
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Multiplicera med tio befogenheter (antal saknas)

namn:

8,395 x 1000 = 8395

4,088 x 100 = 408.8

6,221 x 1000 = 6221

6,538 x 10 = 65.38

6, 871 x 100 = 687.1

2,773 x 10=27.73

2,236 x 1000 = 2236

4,702 x 1000 = 4702

7,285 x 1000 = 7285

5,135 x 100 =513.5

Datum:

5,12 x 100 =512

5,023 x 1000 = 5023

3,208 x 1000 = 3208

6,099 x 1000 = 6099

9,737 x 1000 = 9737

9,452 x 10 = 94.52

10, 606 x 100 = 1060.6

3,815 x 100 = 381.5

8, 193 x 100 = 819.3

3,494 x 10 = 34.94
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